GENERAL NOTES: RAFTERS AND JOISTS STRUCTURAL NOTES:
Member # Ply Span (ft) | Spacing(in) | Load (psf) Size Type Species Grade/Specification Level Hanger
I. ALL DOOR AND WINDOW HEADERS TO BE 2-2XI1© OR 6Xx6 UNLESS OTHERWISE NOTED. I ALL FASTENERS INTO PRESSURE TREATED LUMBER SHALL BE HOT DIPPED
2. ALL INT. NON-LOAD BEARING HEADERS TO BE (2) 2x4 UNLESS OTHERWISE NOTED. FJ1 31.5* 16 50 9-1/2" | Joist n/a TJI 110 or Equiv. Floor 1 n/a GALVANIZED.
3. ALL EXT. WOOD FRAMED WALLS AND INT. LOAD BEARING WALLS SHALL BE 2x6 @ 1" - - : 71110 or Eaul 2. ALL TRUSSES, RAFTERS AND JOISTS SHALL HAVE SOLID BLOCKING AT POINTS OF
O\O. DF 8TUD GRADE UN.O. FJ2 46 16 50 9-1/2 | Joist n/a or Equiv. Floor 1 n/a BEARING.
4. ALL INT. WOOD FRAMED WALLS (NON-LOAD BEARING) SHALL BE 2x4 @ 16" O/C, DF R1 2 24 371 2% 6 Lumber DF No. 2 Roof LRU26Z 3. GAP ALL SHEATHING AS PER MANUF. SPECS. INSTALL H-CLIPS ON 1/le 0SB OR
STUD GRADE U.N.O. YT ———. 112 PLY ROOF SHEATHING WHEN SPAN IS EXCESS OF 12" O/C SPACING.
5. CAULK § COUNTER FLASH ALL EXT. OPENINGS: WINDOWS, DOORS, VENTS, ETC.. pan 4, NO STRUCTURAL MEMBER SHALL BE CUT OR NOTCHED UNLESS SPECIFICALLY
e. ALL ADDITIONAL BLOCKING, STUDS, TRIMMERS AND NAILERS NOT SPECIFIED SHOULD NOTED OR APPROVED BT ENGINEER.
BE TYPICAL STUD MATERIAL 5 DOUBLE TOP PLATES ARE TO HAVE A MIN. 48" LAP SPLICE W/ (14) 16D NAILS
1. CONTRACTOR TO VERIFY SIZE AND LOCATION OF ALL OPENINGS IN FLOOR, ROOF AND : :
WALLS AND COORDINATE WITH PLUMBING, ELECTRICAL AND MECHANICAL WORK. STAGGERED EACH SIDE OF SPLICE. SPLICE SHALL OCCUR CENTERED OVER STUD.
8 PROVIDE WASHERS ON ALL BOLTED CONNECTIONS. — o 6. WHERE TOP PLATE IS NOT CONTINUOUS OVER TOP OF BEAM INSTALL STRAP PER
3. ALL SIMPSON STRONG TIE CONNECTORS AND HANGERS TO BE INSTALLED WITH — | CODE FOR TRANSFER OF TENSILE FORCES.
STRICT ACCORDANCE TO MANUF. INSTALLATION REQS. SEE INSTALLER GUIDE: g N_ 1. SOLID BLOCK (8QUASH BLOCKS) ALL COLUMNS AND SHEARWALL END STUDS
5-C-INSTALLI4. 3 3 FROM ABOVE TO BEARING BELOW. AREA OF BLOCKING MUST EQUAL AREA OF
2. INSTALL SILL SEAL FOAM GASKET BETWEEN SILL PLT. AND FOUNDATION. POSTS OR STUDS ABOVE.
1. INSULATION AND YAPOR BARRIERS PER PLAN. BULDING ENVELOPE DESIGN BY 0" 427-o" 8. WHERE SHEARWALLS RUN PARALLEL TO FLOOR JOISTS AT EXTERNAL WALLS
OTHERS. 5 BLOCK ONE BAY FULL DEPTH @ 16" O/C W/ SOLID BLOCKING. ALIGN BLOCKING
12. ANCHOR BOLTS SHOULD EXTEND MIN. 3/4" ABOVE sILL PLATE FOR NUT AND WASHER WITH STUDS ABOVE.
INSTALLATION.
3. WHERE SHEARWALLS RUN PARALLEL TO FLOOR JOISTS AT INTERNAL WALLS
13, m_.m_wmzwﬂwmqom SHALL VERIFY ALL SITE CONDITIONS, MATERIALS AND DIMENSIONS IN . | . \ BLOCK ONE BAT EACH SIDE OF WALL @ 48" ole W] S0UD BLOCKING. ALIGN
: T-11/2" -4 1/2" BLOCKING WITH STUDS ABOVE.
1e. INSTALL DOUBLE JOISTS WHERE INTERNAL BEARING WALLS RUN PARALLEL TO
JolsTe.
c %m_w_wm @ 2x6 mwwﬂwm . SOLID BLOCKING OVER ALL 4x8 FLOOR BEAMS PER PLAN.
DF NO. 2 DF NO. 2 OF NO. 2 12. USE SIMPSON CNW COUPLER NUTS AND PAB BOLTS TO EXTEND ANCHOR BOLT
BULDING CODE poloxE SWL D (PANELD SoloXO SWL D (PANEL2) soIoPIC oloXO HOLDOWNS THRU TJ/JOIST FLOOR.
COMPLIANCE WALL D “ : : _ e _ - = | _ WALL D 13, M_H_Mrm_oémbr LOOKOUTS SHALL BE SPACED NO MORE THAN 24" O/C AT GABLE
| | | )
THIS STRUCTURAL DESIGN WAS / ! 2650 TUB ! (2) 2% \\ ! / 4“/® 3o 14. WHERE SHEARWALLS INTERSECT AT CORNERS ATTACH SHEARWALL CHORDS W/
ﬂﬂmﬂ%ﬂmﬂmﬁmﬂﬁm}%ﬂﬁ _.,_P__m:r SWL | (PANEL4) (2) 2xe ! W/ SHWR ! DF NO. 2 ! Pe sWL 3 (PANEL2) \_\® 16D NAILS @ &" O/C STAGGERED.
DF NO. 2 | | LGT2 OR LGT | 15, SHEARWALLS SHALL ONLY SHARE A COMMON HOLDOUWN IF THE GROSS UPLIFT
FOLLOWING INDUSTRY CODES. _ ! 20 3 !
LOCAL BULDING CODES MAT " . " | _ FORCE IS LESS THAN 2,500 LBS PER EACH SHEAR WALL.
REGURE MODIFICATIONS TO o |l 9-o" cla. =R “ o 4%6 o 6. USE 2Xx& DF STUD GRADE @ 16" O/C SPACING FOR FRAMING OF ALL EXT. WALLS
BOTH MATERIALS AND DESIGN. 4% 9-0" ClLG. Q1 L% K 9@ cla DrFNo. 2 ] UN.O. MDSPAN BLOCKING SHALL BE WITHIN 24" OF MID HEIGHT OF WALL.
DF NO. 2 Q | 9!l © mmﬁumoo_(_ '8 P e M . USE 2x& DF NO. 2 STUDS @ 16" O/C SPACING WHERE STUD LENGTH EQUALS OR
2012 IBC P2 o BTH S i g - EXCEEDS 10’ (E. EXT. GARAGE WALLS AND ANY BALLOON FRAMED WALLS).
- 18'-6"x13"-1" = I )
ASCE 1 _®| N Eccos4 | | |y Eccacs X1 ip 0 14'-0"
ANs| TP 1-2021 0 o | )\ | | b Qo 0
— _ T C4o I = I Y MSTC4o I )
GA-00-2012 (TOP PLT.) | | | ¥ (ToP PLT.) g ~
AUC NDS 2012 BEDROOM | | i S
ACl 318-11 T éle LNE “ R
WSEC 2212 R n'-&"x13-1" : ! 0
20-o 4%e | “ P
DF NO. 2 7 [
|
\\ P2 f LGT2 OR LGT3 !
| DSCBRI/L “
f
......... | DRAGTRUSS
| (NLINE WITH SWLC) \ WALL C
.......................... Pe
BULDING DATA | DRAG TRUSS DecsRIL — [/ P MWV mmvpﬂm
LENGTH: 56 -© | VAULTED CLG. N T
. g < 2V == iR 7 SR 7o | X DF NO. 2
WDTH: 55'-© o | 6068BF MB2
STUD WALL HEIGHT: 918" 9 (@) 2xe
GRADE TO RIDGE HEIGHT: 19'-6" MsTC40 DINING N &'-o" DF NO. 2
EAVE HEIGHT: II'-&" (ToP PLT.) - = a | (2) TRIM
T s' "
MBI P4 3 DF NO. 2 |/ 10'-5
BEAM PKT. OR HUCQ&!2 I
................................................. > ENTRY POST CONNECTIONS
BULDING AREA 5-1/2"X12" 24F-V4 |.8E DF/DF GLB _ \@ | —_— . oa
\“v i 14'-10"XI1"-5"
MAIN FLOOR: 1,950 SQFT P5 \_\mw//l | oo
UPPER FLOOR: N/A CBSQoee \ (2) 2%xe | @) TRIM NMM%MM CBSQos
BASEMENT: N/A ECCQoo KING DF No. 2 ECCQos
() 2%e DF NO. 2 | (ToP PLT.)
TOTAL LIVING AREA: 1,950 SQFT TRIM : , (2) 2xe
USABLE LIVING AREA: 1,817 SQFT DF NO. 2 — e 7 42" SERVING BAR y DF NO. 2 =
" 1 e ————
GARAGE: 559 SQFT 4" REINF. CONC. sLAB 3 | ! - T : 4-o"
STORAGE: N/A W/ 6Xx6-W2.9%W2.9 WWM REINF VAULTED CLG. B | |
OR FIBER MESH CONC. w | | pw | Pg
TOTAL BLDG. AREA: 2,509 SQFT o 1 o[ = <! _ _ T N R = (2) 2xe (2) 2%6 () 26
56-o - w 10 i % -". |||||||||||||||| \\ DF NO. 2 DF NO. 2 // CORNER
8| T 9! KITCHEN SN S e BF NO. 2
DECK e DRAGTRues | 31 LD N N | £ 7Asm H O S so10%0 A J_TXREZL UALL B
—_— (INLINE WITH SWLB) i | = —F _
o DSCBRIL — | m ! suL B mO\ I @ X4
GV._.NWV_AW_ — Qi =8 TR 1e-11 112" (PANELD I N L
! _ N _ O L&l&:
DF NO. 2 @) 2xe _l_/\_zm bmmb | m mA. _u m swL 4 (PANEL2) | W %_
CBSQeo P3 / KING 0 O O 13 5 (@ 2xe _\® 9
DESIGN CRITERIA ECCQos ! \\I DF NO. 2 15'-8"x25"10" 7 m ".IIIIIIIQIQ |||||||||||||||| “ L bfNO 2 M “
o I i Rer ey " Va HOLDOWNS:
GROUND SNOW LOAD: 25 PSF \\ MBI 1 ey | ! SEE SHEET 93 ! @ 2xe ! -
FROST LINE DEPTH: 12" b T T T T T T T e e e e _ | ) 2%6 FOR INTERIOR m or Hw_qm m .mm_w_xw SHOWS LOCATION OF 88T HDUS HOLDOWNS ¢
OCCUPANCTY CLASSIFICATION: R 5-1/2"%12" 24F-v4 |.8E DEIDE GLB | / P4 C._-__I_._-Iﬁ DF NO. 2 GG — SHEARWALL DETAILS | - i DF NO. 2 5B5/8x24 ANCHOR BOLTS.
RISK. CATEGORY: | ! | LIRS £ 10 " " : ,
WIND SPEED: 155 MPH (ULT) m“ %%mﬂ_.wv | | by
TERRAIN EXPOSURE: C 4 : = } | W SHOWS LOCATION OF 85T HDU4 HOLDOWNS ¢
WIND IMPORTANCE FACTOR: 1.© 1o'-1" L) LG, LNE | D _ 4" REINF. CONC. SLAB ! 0 | SBE/8X24 ANCHOR BOLTS
WIND FACTOR ASD: ©.6 2 — — e T T T T T T _ W/ 6Xx6-W2.9xW2.9 WWM REINF ! m ! v : ~
SITE CLASS: D (STIFF sOlL) 31 | OR FIBER MESH CONC. v 2110 (2) 2xe CHORD, AB MIN. EMBEDMENT 18"
SEISMIC DESIGN CATEGORY: D o1 Ty ! Q! =8 w
SEISMIC FACTOR ASD: ©.1 1 A\ | o i 0 al !
SEISMIC IMPORTANGE FACTOR: 1.0 _ y “ = m . _ m | SHOWS LOCATION OF 85T HDU2 HOLDOWNS ¢
FP CONSTRUCTION TYPE: v-B | a-0" cla. o el L3 3| I Q&Y 20" 55TB2& ANCHOR BOLTS.
sOIL BEARING CAPACITY: 1500 PSF @/_7 wic ’ m IR GARAGE Ly 4 Tuw! |y (2) 2x6 CHORD, AB MIN. EMBEDMENT 16"
= _ o g %)<
N A o _ | it 0 Zl -9
ss&/ \// 0 I | 21-0"x25" 1 fu N ~ SHOWS LOCATION OF £8T HDU2 HOLDOWNS ¢
s | | = Q) | (| -
0o’ @ e 5| 1|0 26 LMD, AB 1N, EMBEDMENT 12
S R | ~ .
DESIGN LOADS -1 P2 : 5 L iy m ol R ~
L3 | MASTER SUITE A O R 1 =X
FLOOR DEAD LOAD: 1@ PSF TS B 1 MeTcee q I g I'-0" cLG _ x|~
FLOOR LIVE LOAD: 40 PSF ol Cxi 1y (ToP PLT) 16'-3"XI15"-5" = s . “ X (1) 2% JAMB TYP
ROOF TC DEAD LOAD: 1 PSF Sl X0 iT  Eccaes 9 ! | Y
Mm_n.u_”_% Wm__w,m_ub ___wo_.bn.wub Uw _Ww_wumm ¥ m _&m | 9-o" cLG |_(_.b.®._.mm wm 7 | (2) 2%e o (2) 2%e TRIM
: B ! . 00O '~ SHEARWALL SHEATHING _ KING _ DF NO. 2
ROOF LIVE LOAD: 20 PSF y | m 4xe SEE SHEET &2 E a o “ CONT. TO ROOF DIAPHRAGM m DF NO. 2 m =
ROOF SNOW LOAD (P.) 19.3 PSF S8 | DF NO. 2 I ! !
: | FOR GABLE END WALL LN
STAIR LIVE LOAD: 40 PSsF P2 BRACING DETAILS _ _
DECK LIVE LOAD: 5o PsF “ “/® X
_ (2) 2xe A y 1! mow._ "
35" SWL 1| (PANELI) ;“\@ DF NO. 2 SUL 4 (PANEL2 ! Sl4-o
i ON| LINEN Saue _ \ HDo HDo INOEE
WALL A . | = ———— ——— ——k ! 2 _ “ | “ = WALL A
3019X%0 3010PIC 2626X0 N |||||||||||||||| LA TTTITTTTTTTTT 4010X%0 4010PIC
(2) 2%6 oBsSc (2) 2%6
CORNER @ 2%6 _| @ 2xe CORNER
DF NO. 2 DF NO. 2 DF NO. 2 DF NO. 2
16'-3" NOTE:
ANCHOR BOLTS FLOOR PLANS DIMENSIONS ARE TO FACE OF
Location Part No. & Desc. _Jmﬁ_‘.CO._“_ij ﬂmbz_zm Om Omznﬁmm_l_zm OF Omumz_zmm .—.J\mv bm
SHOWN.
WALL A 1/2" DIA x 10" Anchor Bolt | Install 48" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer. 31'-p" N'-p"
WALL B 5/8" DIA x 10" Anchor Bolt | Install 36" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer.
- — . - N N ATTENTION !
WALL C 5/8" DIA x 10" Anchor Bolt | Install 32" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer. | 1 r
- | | IT 1S IMPORTANT FOR THE GENERAL CONTRACTOR TO UNDERSTAND THAT IT IS HIS/HER RESPONSIBILITY TO BE SURE
WALL D 1/2" DIA x 10" Anchor Bolt | Install 48" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer. A A A THIS PROJECT 1S CONSTRUCTED IN FULL COMPLIANCE WITH ALL STATE AND LOCAL CODES AND ORDINANCES. THE
w w w PLANS ARE NOT ALL INCLUSIVE OF ALL MINIMUM CODES AND ORDINANCES. THIS FACT DOES NOT RELIEVE THE
WALL1 | 112" DIA X 10° Anchor Bott_| nsall 48 ofo @ min. 7" embedment i 3'x3'1/4" . washer.
CITY ORDINANCE.
WALL 2 1/2" DIA x 10" Anchor Bolt | Install 48" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer.
mrmbm Eb—l—l m—lbz THE GREATEST EFFORT HAS BEEN MADE TO DRAW THESE PLANS WITHOUT ERROR. HOWEVER THERE 1S NO GUARANTEE
WALL 3 5/8" DIA x 10" Anchor Bolt | Install 24" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer. THAT THESE PLANS ARE WITHOUT ERROR. THE ARCHITECT, DRAFTSMAN ¢ ENGINEER ARE TO BE HELD HARMLESS OF
. \ H_yi_ ANY FINANCIAL LIABILITY RESULTING FROM ERRORS IN THESE PLANS. ANY ONE USING THESE PLANS FOR
WALL 4 5/8" DIA x 14" Anchor Bolt | Install 24" o/c @ min. 7" embedment w/ 3"x3"x1/4" plt. washer. SCALE: /4'5~-& CONSTRUCTION OF THIS BULDING ACCEPT FULL RESPONSIBILITY. (CHECK PLANS CAREFULLY BEFORE AND DURING
CONSTRUCTION.)

COPYRIGHT © 2015 MEDEEK DESIGN INC.

o
8
N z%
- o3>
O <
D8
ga
OEe
N 3 mww
w @ oZg
g2
K M mwm
T 26¢
w : = ZeE
w . -
o s &
28 = 2522
w - : 5 358
28 0 . B
—
<
z
@]
(%]
z
o
[ce}
o h:
zZ
w
Z 2
— Q
o w
1))
Q
W 0
Z Q
5 )
o —
[a)]
i
z
Q i
b <
[a)] [a)
—
y
&
pZd
[NE]
=
zZ
o)
(@]
—
L
w
T
w
g
o
)
=
w
-
zZ
®)
(%2}
S
(NN ]
[2%4
= o
o <
O
N O
= o
(@) e

w
T
m
m
—

_

OF

HOUSE5655_STRUCTURAL_REV1.DWG

CREATED: 10/30/2015

DRAWING PATH: U:\DATA\ENGINEERING



